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VI = 0.63 x 425 = 1503
V2 = 0.53 x 105 = 6.38
V3 = 0.0l x 140 = 1.04
VA = 0.01 x 290 = 2.09
V6 = 0.62 x 360 = 9.63 36
V1V4: V5 :
SV = 1503 6.38 1.04
2 .09 9 .63 = 3597
VI = 0.84 x 105 = 9.63
V2 = 0.8 x 50 = 2.04
12
V1, V2:
SV = 9.63 2.04 = 1167
VI = 0.3 x 195 = 6.4
V2 = 0.3 x 50 = 1.5
8
V1, V2:
SV = 6.4 1.56 = 8.9
V =(35.79+118.7699 = 3865 39
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11 = 3.06 3.06 = 7.0
12 = 3.05 = 3.05
3 = 2.00 2.09 - 5.08
As 4 = 2.04 2.04 = 4.8
15cm
L1L3: L4:
SL = 7.02 3.05 5.08
4.08 = 2103
A = 3.06 x 425 = 1530 C
A = 3.05 x 1095 = 6852
A = 4.00 x 35 = 1400
As M = 2.09 x 100 = 2900
B = 2.06 x 360 - 9306 38
10cm
ALAA4: A5 :
SA =1530.0 6852 1400
2000 9306 = 3575 ¢
Co V = 0.50 x 1095 = 0.89 1
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As V =35758 0.40 = 1413 14
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Co V = 0.50 x 1095 = 0.89 1
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Vi = 0.42 x 165 = 3.69
\2 = 0.71 x 360 = 6 .21
V1: V2. 10
>V = 3.69 6 .21 = 1080
\Y = = 1080 10




L1 = 2.04 2 .04 = 4 .08
L2 = 1.07 = 1.07
As 7
15cm L1: L2:
2L = 4.08 1.07 = 6 .05
Al = 2.04 x 165 = 3906
A2 = 1.07 x 360 = 6102
As
10cm 10
Al: A2:
A =3906 6102 = 1000 ¢
As
As \Y =1000. 8 0.40 = 4 .30 4
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Al = 2.04 x 165 = 3906
t = A = 1.07 x 360 = 6102
A s31 10
1. 4m Al : A2:
SA = 3906 6102 1000, 8
Al = 2.04 x 165 = 3906
A = 1.07 x 360 = 6102
t =00
MO3 A1 : A2 10
SA = 3906 6102 = 1000 ¢
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VL = 0.51 x 260 = 3.0
V2 = 0.52 x 250 = 6.52
V3 = 0.72 x 230 = 6.12

16

V1 V2,V3

SV = 3.09 6 .52 6.12 = 1663
V = 0.74 x 230 = 1018 1
V = 0.33 x 230 = 7.9 8
V =(16.36+107.8899 = 1847 19
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L1 = 0.04 0.04 = 0 .08
L2 = 2.05 3.00 27 = 8 .02
As
15cm 9
L1: L2:
2L = 0.08 8 .02 = 9 .00
Co L = 1.00 1.00 = 2 .00 2
15cm
L:
Al = 0.04 x 260 = 1004
A2 = 2.05 x 2050 = 6205
As A3 = 2.07 x 230 = 6201 13
10cm
Al: A2, A3:
A =10014 6205 6201= 1350 C
Vi = 0.41 x 2 60. = 3 .46
V2 = 0.70 x 2 30. = 1.16
Co 5
V1: V2
>V = 3.46 1.16 = 5 .52
As
As \Y =1350. ® 0.40 = 5.04 5
Co
Co V = 3.46 1.16 - 5.5 5
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= AL = 2.05 x 2050 = 6205

As3l AR = 2.06 x 230 = 5705
4 m

A =6205 5705 = 1200 C
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MO 3 R = 2.06 x 230 = 5705

A =6205 5705 = 1200 C
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_— Al = 4.0l x 125 = 5152
= A = 4.0l x 405 = 1665 C
A s31 ez - 188 053
1. 4m = =
SA =5152 1665 0 1703= 2340, 6
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t =00 A = 4.0l x 405 = 1665 C
2o 21
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